Guide Rails and Brackets

L Type

lIL-Shaped Conveyor Guide Rails

L 4

[RoS 10}

Part L oy [
CGL Number | S5mm Increment Unit Price
150~ 300
305~ 500
ceL 505~ 750
755~1000
Polished Surface )
Ordering Part Number| -
. 9.02 Bample CGL - 380
= ml T‘%\
gLr ‘2-02
(D Material: EN 1.4301 Equiv.

lL-Shaped Conveyor Guide Rail
Brackets
- Standard Type

&
=

CGK CGKL
(W=50,60) (W=100)

~
No.55 SL 2 ;@k
06
Hex Socket Head Cap Srew Arow View A
M3x8
Spring Washer| W
3 12 Hex Socket Set Screw
o 3 M3x5
A_ = =
i ] iy
= 2 B
HexNut /'~ ‘ .
2-M3
o 1.5 22
Hex Socket Head Cap Screw 2-M3x10 30

Spring Washer 2-M3

No.80 N ©
;t:io
08
Hex Socket Head Cap Serew Arrow View A
M4x12
: 13 4 Hex Socket Set Screw
Spring Washer MaX5
M4 i
L 1 — [==]
T = 1 ek
R s o
P
=

Hex Nut 1
2-W16 12 5

Hex Socket Head Cap Screw 2-M6x12

Spring Washer 2-M6

(®N0.55 ~ 80 have different bolt size for the conveyor mount part. Select an appropriate bolt according to the conveyor you are using.

2 ©
No.70 = iﬁ
108
Arrow View A
Hex Socket Head Cap Screw

4

M4x12

Spring Washer
M4

13 / Hex Socket Set Screw
11 / M4x5 (Flat Head)

A —r
8
Hex Nut

o 012 | [l15
Hex Socket Head Cap Screw
2M5x12
Spring Washer
2-M5

([ Material: EN 1.4301 Equiv.

T::: Number __ w — ‘.\).‘ Aorations @ Part Number
CGK 33 50 - @y
(W=50,60) 30 60 CGK 70 - CL
corL o] 10
80 Alterations Code Spec.

Ordering ‘M‘

CGK 80

Change to Product with Clamp Lever

Hex socket set screws are replaced with the
CL | clamp lever (Orange, CLDMC4-8-M Equiv.).
@Not applicable to CGK55/CGKL55

Dedicated web site http://fa.misumi.jp/cvs/
Conveyor selecting, component purchases,
and easy search for maintenance parts are available.

lL-Shaped Conveyor
Guide Rail Brackets
- Offset Type

CGH CGHL
(W=50,60) (W=100)
No.55 2 ﬂ No.70 2 cok ”&
06 28
) | ety Arrow Vew A He Socket ead Cap Sren 4 Arrow View A
g w Wéxf2 W _/Hex Socket Set Sorew
Spring Washer | \ fi5 Hex Socket Set Screw Spring Washer 13 |/ Mdx5 (Flat Head)
M3 \io|_3_ WG wa 11 - 7/ 30
I~
A_ LS A_ — |
.l T N
o E['[ < rfﬁ i Tﬂ ;l o ic R
Hex Nut g i T
s 521 Lo — Hex Nut 3 I
HexSucet head Cap St / |30 7.5 \HexSucketHeed Cap o 2- 3 2-M5 25| | 12 L4 |
2Mex10 Spring Wesher 2-M3 Hex Socket Head Cap Screw 37 .15 Hex Socket Head Cap Screw
Spring Washer 2-H6 2-M5x12 2-MEXB
Spring Washer Spring Washer
2-M5 2-M5

(PNO.55 ~ 80 have different bolt size for the conveyor mount part. Select an appropriate bolt according to the conveyor you are using.

No.80

=" i

w Arrow View A
Hor Socket ead CopSerew |1 9
W42

Spring Washer
M4

Hex Socket Set Screw
1qf==—_~1 M4x5

Hex Nut
2-M6

Hex Socket Head Cap Screw 2-M6x8
lex Socket Head Cap Screw 2-M6x12 ~ Spring Washer 2-M6

Spring Washer 2-M6

(D Material: EN 1.4301 Equiv.

T::: e No w e Alterations Part Number
con 55 50 [ Type | [No.|- (cb
(W=50,60) ;g 60 CGH 70 - CL
55
091"('1'6 70 100 Alterations Code Spec.
(W=100) 30

Change to Product with Clamp Lever

lﬁ Ordering | Part Number

Example

CGH

55 Hex socket set screws are replaced with the

cL | clamp lever (Orange, CLDMC4-8-M Equiv.).
®@Not applicable to CGH55/CGHL55

ex Example

CGL

Workpiece



